
Xo"d kfOkXo"d kfOkXo"d kfOkXo"d kfOk 
cfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutf    

g]kfndf lbg k|ltlbg ljsf;sf] sfd b[tultn] e}/x]sf] 5 . clw/fHosf] k|To]s ufpF tyf gu/df 
9n lgsf;sf] lgtfG6 cfjZos x'g cfpF5 . 9n lgsf; agfpg O{6f / df6f]sf] eGbf l;d]Gd6 kfOk xfnL 
agfpFbf dha"t / alnof]sf] ;fy} uGwxLg x'G5 . o; ;Gbe{df hg;+Vof a[l4n] ufpF jf gu/sf] 3/3/df 
cfw'lgs 9Ën] 9n lgsf; lgdf{0f x'Fb} u}/x]sf] 5 . 9n lgsf;nfO{ Xo"d kfO{k -Cement Pipe_ lgtfGt 
cfjZos / pkof]uL ePsf]n] / lbg k|ltlbg o;sf] dfu klg j[l4 x'Fb} uO/x]sf]n] k|:t't :sLd th"{df 
ul/Psf] 5  . 

 
k|ljlwk|ljlwk|ljlwk|ljlw    

Xo"d kfOk tof/ ug{ klxn] l;d]G6, afn'jf / kfgLsf] cfjZostf kb{5 . l;d]G6 ! efu / afn'jf 
$ efu ld>0f u/L cfjZos dfqfdf kfgL /fvL ldS:5/ d]zLg df cfjZos n:;f cfpg] u/L d'5L 
;s]kl5 ljleGg ;fOhsf] sf7sf] ;fFrf]df /flvG5 / ;fFrf] ;xLt /f]lnË ;]6 df /fvL #) ldg]6;Dd 
3'dfOG5 . To;kl5 ;fFrf] ePsf] kfOknfO{ kf]v/Ldf nu]/ /flvG5 / Sof]l/ª ul/G5 . kf]v/Laf6 lgsfn]kl5 
;fFrf]nfO x6fOG5 / tof/L kfO{k ljlqm of]Uo aGb5 . 
 
kl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emns    
1= kl/of]hgfsf] gfd M– Xo"d kfOk pBf]u 
2= pTkfbg Ifdtf M– aflif{s $Æ*Æ Xo"d kfOk %!,#)) 6'qmf aflif{s #)) lbg, b}lgs * 306f 
3= pTkfbg x'g j:t' M– l;d]G6sf] kfOk 
4= sf/vfgf :yfkgf x'g ;Sg] :yfg M– zx/L If]q aflx/ . 
5= s'n k"FhL nufgL 

s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL 

    
?=830000.- 
?=290400.-    

?=1120400.-    

6= ljlQo ;+:yfgaf6 qm[0f ;x'lnot— 
s_ bL3{sfnLg C0f  
v_ cNksfnLg C0f  

 

?=500000.- 
?=180000.- 

?=680000.- 

7= d'gfkmfsf] k|ltzt– 
s_ s'n k"FhL nufgLdf 
v_ :jnfut nufgLdf 

 

20.01% 

50.96% 

 

8= a|]s Oeg KjfOG6 -kf/ ljGb'_ 
s_ k|ltztdf 
v_ d'Nodf 

 

53.05% 

?=1088700.

- 

 

9= d'gfkmf 
s_ s'n jflif{s pTkfbg lalqmaf6 
v_ s'n jflif{s pTkfbg vr{  

 

?=2052000.- 
?=1827700.- 

?=224300.- 

10= /f]huf/L 
s_ k|ToIf /f]huf/L  

 

18 hjfg 

 

11= d"No clej[l4 41.52%  
 
 
 

l:sdl:sdl:sdl:sd    
l:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0f 
1= hUufM !÷$ /f]kgL, k|lt /f]kgL ?= #)))).–  ?=300000.- 



2= sf/vfgf 3/ 
s_ sf/vfgf 3/ 6x/f !*Ú X !@ÚÖ @!^ ju{ lkm6 
v_ uf]bfd 3/ !*Ú X !@Ú Ö @!^ ju{ lkm6 
u_ sfof{no (Ú X !@Ú Ö !)* ju{ lkm6 
   k|lt au{ lkm6 ?= @%).– 
3_ ljB"lts/0f 
ª_ kf]v/L !)Ú X #)Ú X @Ú Ö ^)) 3gkm'6 k|lt 3gkm'6 ? 
*).– 

r_ l;d]06 Kn]6 kmd{ $) X #) ju{lkm6 k|lt ju{lkm6 ? $).–n] 

 

 

 

 

?=237500.- 
?=12500.- 
 
?=48000.- 
?=48000.- 

?=346000.- 
 

3= d]l;g cf}hf/ 
s_ l;d]G6 lkmS;r/ d]l;g !) c=z sf] ljB't df]6/ ;lx6 k"/f 
;]6 ! b/ ?= $%))).– 

v_ kfOk /f]lnË d]l;g ;fkm\6 w'/f jf]l/Ë :6ff98 tyf &=% c=z 
ljB"t df]6/ ;lxt k"/ ;]6 ! b/ ?=@))).– n] 

u_ $ 8fold6/ * nDjfO kfOksf] ;fFrf] !)) yfg b/ ?=$)).– 
3_ ;fj]n, s/fO{, tfp tyf cGo pks/0fx? 
ª_ kfgLwf/f h8fg, kfO{k cfbL 
r_ d]lzg 9'jfgL tyf eG;f/ %Ü n] 
5_ d]lzg h8fg vr{ !@ Ü n] 
h_] ljljw 

 

 

?=45000.- 
 

?=20000.- 
?=40000.- 
?=5000.- 
?=12000.- 
?=6100.- 
?=9760.- 
?=12140.- 

?=150000.- 

4= kmlg{r/ tyf lkmS;r/  ?=15000.- 

5= pBf]udf nufgL cl3sf] vr{  ?=6000.- 

6= pBf]u ;+rfng cl3sf] vr{  ?=13000.- 

s"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhL        ?=830000.?=830000.?=830000.?=830000.----    

         

rfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0f         

1= sRrfdfn df}hbft @% lbgsf] nflu ?=100000.-  

2= k|zf]wgdf /xg] # lbgsf] nflu ?=39200.-  

3= tof/L dfnsf] df}Hbft & lbgsf] nflu ?=28560.-  

4= pwf/f] ljqmL c;'ln !) lbgsf] nflu ?=40800.-  

5= k|zf;lgs vr{ ! dlxgfsf] nflu ?=6300.-  

s'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhL        ?=175400.?=175400.?=175400.?=175400.----    

6= s'n k"FhL nufgL 
s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL  

 

?=280000.- 
?=175400.- 

?=455400.- 

jflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vr{{{{   

1= Xf; s§L 
s_ sf/vfgf 3/ %Ü n] 
v_ d]lzg cf}hf/ !)Ü 
u_ kmlg{r/ tyf lkmS;r/ @)Ü 

 

?=7500.- 
?=11000.- 
?=1200.- 

?=19700.- 

2= aLdf -s'n l:y/ k"FhLdf hUufsf] d'No jfx]s_ !Ü  ?=2725.- 
3= Jofh -lb3{sfnLg qm[0f_ !&)))).– !^Ü   ?=27200.- 

4= ck|ToIf sd{rf/L vr{– 
s_ Joj:yfks ! dfl;s ?=@!)).– n] 
v_ n]vfkfn !, dfl;s ?= !*)).– n] 
u_ lkog tyf kfn] !, dfl;s ?=*%).– n] 

 

?=25200.- 
?=21600.- 
?=10200.- 

?=57000.- 
 



5= sfof{no tyf cGo vr{ 
s_ d;nGb 
v_ lj1fkg 
u_ eQf kl/jxg 
3_ cGo b:t'/ 
ª_ ljlj3 

 

?=3000.- 
?=1000.- 
?=4000.- 
?=2000.- 
?=2000.- 

?=12000.- 

6= n]vfkl/If0f vr{  ?=3875.- 

s'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ M        ?=122500.?=122500.?=122500.?=122500.----    

7= sRrfdfn 
s_ l;d]G6 af/f $*)) k|lt af]/f  ?= @#).– n] 
v_ afn'jf !(@)) 3gkm'6 k|lt 3gkm'6 ?= %.– n] 

 

?=1104000.- 
?=96000.- 

?=840000.- 

8= k|ToIf sfdbf/ vr{ 
s_ bIf sfdbf/ !, dfl;s ?= !*)).– n] 
v_ cw{bIf sfdbf/ #, dfl;s ?= !%)).– n] 
u_ ;xfos sfdbf/ #, dfl;s ?= ()).– n] 

 

?=21600.- 
?=54000.- 
?=43200.- 

?=118800.- 
 

9= pTkfbg tyf cGo vr{ 
s_ OGwg 
v_ lu|h t]n df]ljn 
u_ dd{t ;+ef/ tyf hu]8f kf6{k"hf{ 
3_ ljljw 

 

?=2400.- 
?=3600.- 
?=12000.- 
?=2400.- 

?=20400.- 
 

10= Aofh cNksfnLg C0f ?= !))))) sf] !*Ü n]  ?=18000.- 

s'n rn vr{s'n rn vr{s'n rn vr{s'n rn vr{     ?=997200.- 

jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{  ?=1119700.- 

      

jflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgL    
s_ $ 8fOld6/ * nDjfOsf] l;d]G6 kfOk %!#)) k|lt kfO{k ?= 
$).– n] 

 

 

?=2052000.- 

?=1227500.- 

d'gfkmfd'gfkmfd'gfkmfd'gfkmf    
s_ s'n jflif{s pTkfbgaf6 cfDbfgL 
v_ s'n jflif{s pTkfbg vr{  

 

?=2052000.- 
?=1827700.- 

?=224300.- 

d'gfkmfsfd'gfkmfsfd'gfkmfsfd'gfkmfsf] k|ltkmnM] k|ltkmnM] k|ltkmnM] k|ltkmnM      

s"n k"FhL nufgLdf 20.01%  

OSjL6L nufgLdf 50.96%  

d"No clea[l4 41.52%  

 


